1. Mass of a helium atom is myu,=7x10"% kg. How much time (in average} it would take for He
atom to fly through this lecture hail?
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2. Xe atoms are appro\;}lmately 30 times heavier than He. How much time (in average) it would
take for Xe atom to fly through this lecture hall?
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The two gasses are at the same temperature and same number of atoms. If the

divider between them is free to move, is its position shown correctly? AL

Yes, He must occupy bigger
volume since its atoms move faster
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No, twa gases should be equal and be
satisfied with an equal amount of space.
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A cowboy fires a silver bullet (Csiver=234J/kg-°C) with a muzzle speed of 400m/s into the pine wall of
a saloon. Assume all the internal energy generated by the impact remains with the bullet. What is
the temperature change of the bullet?
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Modern rifles have much higher exit speed, for example 800m/s. What is the final temperature (and
state) of the bullet in this case? Assume its temperature was 40°C before the impact.
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